(V) Y B9 3 ady ugma g

[AB] asiie a E aiill; O 538 50 g a1 5e ABCD
. G il & (BD) ok (CE)

Jeal sl (1

 [BC] “hsiie o s (AG) :of 0 (2

.BG =20D olow (3

. O & (AB) ¢hiys D akiill i (AC) piasd) oy (A)
Jsa sl (1
.(oc)O(BD) :of e (2

..................................................................................................................................................... Gl ¢y )
C:—§—(O,5—§jx§ ¢ B:—Ex(g—ljxE ¢ A:g—gx(—gj u.u;\
7 7 5 33 \5 6) -4 3 3 7
19
2_7
5 2 6
E=————-—— ¢ D=——>
}_ﬂ S 2+g
6 9 6
'''''''' www.xdmaths.com
(V) Y B9 3 aby ugna g ;
....................................................................................................................................................... Jo¥) Cpaill

 [AB] hsiie & E ALl O 58 e g 5 5ie ABCD
. G ikall i (BD) ek (CE)

il i (1

 [BC] isiic e s (AG) i o (2

.BG:EOD w3

. O & (AB) ehins D dkill & (AC) pdiiasa) olaiy (A)
il (1
.(oc)O(BD) ol v (2

..................................................................................................................................................... ) ()
c=-2{05- 22 B R Ve
7 7) 5 3 \5 6) 4 3 3 7
19
2_7
5 2 6
E=——M—— ¢ D=
14 s .19
6 9 6

www.xdmaths.com



